CHANGE ORDER SUMMARY CITY OF NORMAN CLEVELAND COUNTY, OKLAHOMA

CHANGE ORDER NO1 (Final)	DATE:	January 13, 2012
CONTRACT NO.: K-1 12-48	_ SU	BMITTED BY: Bob Hanger
PROJECT: FYE 2010 Drainage Project		et e
CONTRACTOR: Cimarron Construction (7409 N.W. 85 th Street Oklahoma City, Oklahom		
Original Completion Date : January 7, 2012	2	
Previous Completion Date: January 7, 2012	2 ORIGINAL CONTI	RACT AMOUNT \$ 179,440.00
(Increase) this change order <u>6</u> Calendar	days	
New Completion Date <u>January 13, 2012</u>	PRESENT CONTRA	ACT AMOUNT \$_179,440.00
DESCRIPTION	DECREASE	INCREASE
See attached "Change Order Detail" Note: This change order is based on <u>unit prices</u> from the original contract.	\$11,809.30	\$6,014.50
NET CHA	ANGE \$5,795.30	\$
*	CONTRACT AMOU	UNT \$ <u>173,644.70</u>
CONTRACTOR: Don (May		DATE: 2-8-12
ARCH./ENGINEER: BJC How	rgl	DATE: 2-8-12
CITY ATTORNEY:		DATE:
ACCEPTED BY: (City Manager)		DATE:

CHANGE ORDER DETAIL CHANGE ORDER NO. 2 (Final) City of Norman Cleveland Co., Oklahoma

Project Name FYE 2010 Drainage Project

Design Engineer Bob Hanger

Account Number <u>050-9968-431-6101</u>

Project No. DR0057

Contract No. K-1112-48

- A. Change Orders or addenda to public construction contracts of One Million Dollars (\$1,000,000.00) or less shall not exceed a fifteen percent (15%) cumulative increase in the original contract amount.
- B. Change orders or addenda to public construction contracts of over One Million Dollars (\$1,000,000.00) shall not exceed the greater of One Hundred Fifty Thousand Dollars (\$150,000.00) or a ten percent (10%) cumulative increase in the original contract amount.
- C. Change orders or cumulative change orders which exceed the limits of subsection A or B of this section shall require a readvertising for bids on the incomplete portions of the contract.

G.

1. All materials with cost per item;

2. Itemization of all labor with number of hours per operation and cost per hour;

3. Itemization of all equipment with the type of equipment, number of each type, cost per hour for each type, and number of hours of actual operation for each type;

 Itemization of insurance cost, bond cost, social security, taxes, workers' compensation, employee fringe benefits and overhead cost; and

- 5. Profit for the contractor.
- H. 1. If a construction contract contains unit pricing, and the change order pertains to the unit price, the change order will not be subject to subsection A or B of this section.
- 2. When the unit price change does not exceed Ten Thousand Dollars (\$10,000.00), the unit price change order computation may be based on an acceptable unit price basis in lieu of cost itemization as required in paragraphs 1,2,3,4 and 5 of subsection G of this section.
- I. Alternates or add items bid with the original bid and contained in the awarded contract as options of the awarding public agency shall not be construed as change orders under the provisions of the Public Competitive Bidding Act of 1974.

DETAILED COST ITEMIZATION

Change Order No. 1 (final) To FYE 2010 Drainage Project

<u>Cimarron Construction</u> Project No. 1- Merkle Creek Channel Improvements

	Description		Decrease		Increase
1	Bonds				Increase
2	Insurance				
3	Clearing and Grubbing				
4	Backfill (Embankment)				
	105 cy @ \$15.00 cy =			\$	1,575.00
5	Unclassified Exc.			φ	1,575.00
	50 cy @ \$15.00 cy =			\$	750.00
6	4" Top Soil	-		φ	750.00
	139 sy @ \$1.00 sy =			\$	139.00
7	Erosion Control			φ.	139.00
8	Bermuda Sod				
	139 sy @ \$2.00 sy =			\$	278.00
9	Structure No. 1	#		\$	
10	Structure No. 2	_		1	2,805.00
11	Mobilization			-	
12	Construction Staking	_		+	
13	Concrete Removal	-		+	
14	Material Testing			-	
15	Turf Reinforcement Mat (Enkamat)	_		-	
	476 sy @ \$7.00 sy=	\$	3,332.00	-	
16	Turf Reinforcement (Scour Stop)	Ψ	2,332.00	+	
	\$59.58 sy @ \$60.00 sy=	\$	3,574.80	-	
		Ψ	3,374.00	+	
	Sub-Total	\$	6,906.80	\$	5,547.00
	Project No. 1 Total Decrease	\$	1,359.80		
			-,,		
				-	

DETAILED COST ITEMIZATION Change Order No. 1 (final) To FYE 2010 Drainage Project

Cimarron Construction
Project No. 2- Scoper Dials

	Description	Decrease	Increase
1	Bonds	Beerense	Increase
2	Insurance		
3	Erosion Control		
4	Bermuda Sod		
	185 sy @ \$3.00 sy =	\$ 555.00	
5	Mobilization	Ψ 333.00	
6	Construction Staking		
7	Sidewalk Removal & Replacement		
	8.50 lf @ \$55.00 lf =		\$ 467.50
8	Asphalt Removal & Replacement		Φ 40 7.30
	20.00 sy @ \$125.00 sy=	\$ 2,500.00	
9	Curb & Gutter Removal & Replacement	Ψ 2,500.00	
	65.40 sy @ \$20.00 sy=	\$ 1,308.00	
10	Material Testing	4 1,508.00	
11	Irrigation System Repair		
12	18" RCP		
13	Structure No. 1		
14	Structure No. 3		
15	Structure No. 4		
16	Structure No. 2	+	
17	6" Waterline Lowering		
	Sub-Total	\$ 4,903.00	\$ 467.50
		Ψ 1,505.00	\$ 407.30
	Project No. 2 Total Decrease	\$ 4,435.50	
	Total Decrease Project Nos. 1 & 2	\$ 5,795.30	